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7// Warm Up Grade 7
Quiz tomorrow

Unit 2: Integers day 5

1) Represent the following as addition and find the sum:

NOTRR TR’
QrSQ + C2)= ¢+3)

d:f€

2) Represent the following as addition and find the sum:

a) The temperature is -30°C at noon and rises by 12°C by supper
time. What is the temp at super time?
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L m Up Grade 7
A1 boLut ept 11 2013

Unit 2: Integers day 5

1) Represent the following as addition and find the sum:

TN ATAVA 77

(+5) + (-2)

Y(H=<CD
2) Represent the following as .

additionfand find the sum:

a) The temperaturd iS -30°C)at noon and|

time. What is the temp at super time?

(-30) + (+12) =-18

rises by 12°CJby supper

'\ 7 temr-)-erature at suppertime is -18°C
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Homework solutions

o) )+ (D=

Yy (2413)= ~)
c) (-1 D =-L
dy ) +HED =
? ) H =3
y ) HHD) =S

oy B D=

(R

3,%&3)-)—(—4\ =1
(0%

DID =0
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3, Use coicured tlles 2o represent sach sum. Hnd each sum Homework solutions

Skwich the ties you vaed Whan do pou natce!
il =B+ (=2 b) (=d] + |=+4 () [+5)+ =5

AL EE = 0

hEEEE | “

JEE B

ANEERE 1 1_:_0
HEEE B

4. Add Sketch canured tikes sa vow how yeu dd
al |+ +(+3 bl (=3 + {+4 () (=& + {=1]
@i+ +1=1 el (=3 + (=& fi (-5« |-2

A0 OCE] = +=
= H B B
SHEEEE- -5
O[] @ =0
SHEE-EEEE--7
lt Bl -3

-
™~

)]
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‘ Homework solutions
E. Add Wrte the addron equuation

) |+4) = (=3 b) (=71 + {+5| () (=& + (=5}
g |+K +[=1) . B 100+ [=4) fi (&) + (=1}

N+4 J’L"’_‘S) = +7

b) (~7)'," ("'5) = =2
.......

<) tLHJ—L-g) = -0
EEEE EEEEE

oy 4) 4 (- = +7

DI T () = -y,
ElEIREIREIREI R el
ENEIREI R EIR I B

W%H@ -9
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) Homework solutions
6. Swprine wach wnlenoe with nlegers, Pwn Ind sads wm.

3} The semperature drops 3°C and rises 4°C

b} Mane sarned §5 and spent 51

O A siook res 15 then Fdls 7¢

4} Jerome moves s game péece 3 squares bockwand, ther & sguores orwand

¢} Durva depcains $12 Cwin wathdriwi $3.

Moude)
Q) (=3) +(H) = +
b (+5) +(=3) =+2
<) HISHFE) =
) DN = +5
& HDHF-5Y= +7
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Homework solutions

B. Copy and complete
al (45} % )= 4B By ()4 (=4~ 4 "IL3 'L ‘1
dji=3i=0]==3 g (=2 =[]= =] fO«[-&=0

S Assessment Focus .

al Add [+ 31+ (=N

B Suppose oo 2dd e Nlegens 0 Ihe 0pDISIE Ofder
|=7 =+ |= 1), Does the sumn change? 1
Juew coboured Ul dasangn and words 1o wsplir the et

) Mow iz (=1] = (=N dierert from (=31 = =717 leplain

dil Bepeat party s o ¢ with a sum of mtegen of your chace .
Wean do you notice?

EEEEEEE - "
by =D+ ¢32)

eN
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Homework solutions
8. Take It Further Add Sestes cobeommd e o g hoiw o et 4

-'|-|.'. ¥ i J|II -I_ hl"f'" -I !.1|
g =2+ (=11 (= @) (=) = (=3 = [+1}

o) (+) + 42) + (+2)

I

+G 1

L) (+2)+ (-1)4+ +3) = +4
S .> ot
) (2)+(~)) + (-1

"TITHR R

ch <-“+) ')'L 3) ¥ (4

1 1

|
|
U\

\I
Y
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Solutions

Extra Practice 1

Lesson 2.1: Representing Integers
1. Write the integer modelled by each set of tiles.

a) [RI R [RI[R -4

e
"I

2 a) —7 0000000
bj+8 ©0e0eee®® L LY Y
c) -2 oo °o e
d)+6 eegeee 0o 000

3. Which integer is modelled by eacgset of tiles?

a) 5 yellow tiles and 13 red tiles - b) 28 yellow
1980848 ) odeve
00000

d) 37 yellow

c) 15 yellow tiles and 8 red tiles
000900000y 0000:7
00000000

4. a) You have 3 yellow tiles and want to model —4.
How many red tiles do you need?
b) You have 6 red tiles and want to model +7.

a)vyvy

BY V[V V| [V][Y] *6

d)
%%%EE@E@ 5

H%EE
+3

. Use coloured tiles. Draw two different models for each integer.
0000000 8

tiles and 24 red tiles

tiles and 41 red tiles

rrrrrrr

need 7 red

| = shaded (+)

Red= Unshaded (-)
+2

to model -4

Yy YYYYYYYYYYYY
Need 13 yellow to model +7

6 d to model +2

How many yellow tiles do you need? . ‘\
c) You have 5 yellow tiles and want to model +2. V \

How many red tiles do you need? y y y \’ w‘ nﬁﬁd
d) You have 8 red tiles and want to model =5. Ty r D "q

How many yellow tiles do you need? ‘Rr 42,

4o be mady
Lyrrrrrr ,,\Nyy) d\rrrrrrrr
M) <) 7
rr rrr yvyy

need 3 yellow to model -5
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Extra Practice 2

Lesson 2.2: Adding Integers with Tiles
Use coloured tiles.

1. Find each sum.
a) (+6) + (-12) -6 b) (-10) + (—4)
OMOOOO

S0y 000000 0000

d) (+11) + (+7) +18 e) (-13) + (+5) -8 f)
000000000 g0 (o)
000000 eccee

The building is 50 m high.
The building is 15 m high.
The trench is 10 m deep.

The mine is 450 m deep.

- ) (=8) + (-9)
14 ¢ 17

2. Represent each sentence with integers, then find each sum.

What does the sum represent?

a) The elevation of the base of the building is 345 m above sea level.

b) The elevation of the base of the building is 75 m below sea level.
(-75) + (+15

c) The elevation of the top of the trench is 237 m below sea level.

d) The elevation of the entrance to the mine is 1500 m above sea level.

(+12) + (-6)
© 00000 000000 +6

(+345) + (+50) = (+395)

) = (-60)

3. These are the scores on each hole of mini-golf. Find the total score.
Iscore | 2 [ vt [ o [ | a0 | 2] a0 ] o | 2|
4. Complete each magic square.
a) b)
+3 -7 +8
+2 +Hh| -5 -3
+1 -1 -1 +2
+3 +1

10
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Pass sheet out to students ‘PS b
= P

| N (+) ++2) ¢ See¥.\S

Q

10 -9 -8 7 6 54 3 2 -1 0 1 2 3 4 586 7 8 9 10

40 9 8 -7 6 54 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10
10 9 8 7 6 5 -4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
10 9 8 7 6 54 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

10 9 8 7 6 54 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10
10 9 8 7 6 54 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

10 9 8 7 6 5 -4 3 2 -1 01 2 3 4 5 6 7 8 9 10
10 9 8 -7 6 -5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
10 9 8 7 6 5 -4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10

10 9 8 -7 6 54 -3 2 -1 0 1 2 3 4 586 7 8 9 10

11
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Modelling Integer Addition using Number Lines

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

S
23X o~ Always start at zero

@)+ = @ D)

! l 1 1 | |
i 1 I I | I

10 9 -8 =7 —6 -5 —4 -3 =2 -1 +1

() (2)+ () = ¢6)

F Y
L

v A4 I | T I I I

-10 -9 -8 —?@—5 —4 =3 -2 =1 0 +1 +2 +3 +4 +5 +6 +7 +§ +9 +10

6 - -
@)D = G

| l 1 1 | | | l -
I 1 I I | I I I i

-10 -9 -8 -7 -6 =5 =4 =3 =2 =1 0 +1 +2 +4 +5 +6 +7 +8 +9 +10

@ (H+(+8) = G 4)

a1 I mll [ »
- 1 ) 1 1 Ld

10 -9 -8 -7 -6 -5 —4 -3 =2 —1 0 +1 2 +3 45 46 +7 48 +9 +10
(©) (-/)+ () SC=2?

-0 -9 -8 -7 6 -6 —4 -3 @—1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

12
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Modelling Integer Addition using Number Lines
SOLUTIONS

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

N
@3+05) = T

—
! 1 I l 1 1 1 | 1
B | I | I I I I | I |

l -
T L

=10 -89 =8 =7 =6 =5 —4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(b) (-2)+ (-4 =-§’

all—! l L l | | l 1 l -
hol | I 14 I | I 1 I 1 L

-0 9 8 -7 6 -5 4 -3 -2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(0) (+6) + (-3) :-\-3

! l 1 1 | | l -
1 I I I I I i

B |

=10 -89 =8 =7 =6 =5 —4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(d) (-4 +( +8),:.\.\I.

! l l 1 | | l -

+1 42 +3 +4 +5 +6 +7 +8 +9 +10

v

+1 +2 +3 +4 +5 +6 +7 +8 +9 +10

13
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1Z omorrow

pgi 2%) (+5)+C¢
(a, c e,g), - é+S)
# 2(a,b,c), 3 Y D+
#3(a & b but just repeat it for 2b and 2c)
#4 (a,b,c)
#5

Try to figure out rules.

Have to draw number lines for #1,2. For the rest you have to
have addition equations but don't have to draw number lines

14
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Modelling Integer Addition using Number Lines

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

(@) (3 +(+5)

4 [ J | | | | »
| | I I I I I I I I I | I | I | w

-10 -9 8 -7 6 -5 —4 -3 =2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(b) (-2)+(-4)

il 1 [ l 1 1 1 | 1 | | | | l l l -
o I | I I 1 I I I | I | I | I 1 I I i

=10 -9 =8 =7 =6 =56 —4 =3 =2 =1 0 +1 +2 +3 +4 +§5 +6 +7 +8 +9 +10

(c) (+6) + (-3)

| | [ | | [ [ | | 1 | 1 | |
el | I I 1 I | L 1 1 1 | L

—10 9 8 -7 6 -5 4 -3 -2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

v

(d) (- +(+8)

! l [ | l [ l 1 l 1 l 1 1 | | | -
el I I I I I 1 I I I 1 I I | I | "

-0 9 8 -7 6 5 4 -3 -2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(€) -7)+(+5)

! l [ l 1 [ 1 1 l | 1 | | | | l -
o | I I 1 I I I I 1 | I | I | I I i

=10 =9 =8 =7 =6 =56 —4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +0 +10

15
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Modelling Integer Addition using Number Lines

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

(@) (3 +(+35)

l -
I I I I | I | I | I I -

=10 =9 =8 =7 =6 =5 —4 =3 =2 =1 0 +1 42 +3 +4 +5 +6 +7 +8 +9 +10

(b)(-2)+(-4)=_b

! 1 l m‘ | | | l 1 l
R | I I L4 I h I hl

=10 =9 =8 =7 =6 =5 =4 =3 =2 =1 0 +1 42 +3 +4 +5 +6 +7 +W
©) (+6)+(-3) = ¥

a4 | | [ | | 1 | 1 ]| 1 |
eI I | 1 I

-
I I I I | I I I | "

—10 =9 —8 -7 —B —5 —4 —3 —2 —1 0 +1 42 +3 +4 +5 +6 +7 +8 +9 +10

(d) (-4) + (+8) >-H-l-

v

! l | l 1 1 l 1 l 1 1 | 1 |
el I I I

B
I | I | I | I | I | .

-10 -9 -8 -7 -6 =5 —4 -3 =2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

() (-7)+ (+5)'=-—j'

l 1 1 | 1 | [
1 I I I I | I | i

-10 -9 -8 -7 6 -5 —4 -3 =2 —1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

16
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3, e coocarsd Ukas oo represent s3ch wum H“dEE':h Lam.
Skwich she ties you used Wht do you nosee!

al =3 =i(=0 bl (=] = |+d} £ [+5 -+ |=5|
4, hoddd Skstch eoloured tikes s vhew how v did d

af [+3 =+ =3 bl (=31 +{=4 £ (=& + {=1]

dp 1+ 10+ =1 el (=3] + [—d) fi (+51+ -}

&, ddd ‘iz ihe addren squuinn
al 1+df = (=3 bl (=7 +|+5| il (=& +(=5]
df |8+ [=T) SR L B fi (e (=14

8. Raprinant wich wnlence with nbegec, Ten Bnd sach .
al The semperaiuee drops T and dses 4T,
B Warie smed 55 ond spent §3,
i A Sind fed 196, then (b 7,

d} Jerome moves his geme plece 3 squeres backneard, then & squares borwand,

o) Darea depssits 5123, in withdicsa 55,

September 15, 2022
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T Lhue qpeeszion Sana modsl
WL 3 e T 3 did e pRoblees.
Trade prehlEmusiih o dawsmaie

o o el ereiie’s prabdems witk coloured ks

. Copy and complate
all Ay 0 = +B By o (=) = =t o) [+ +1
dl{-5k+0=-3 e (+A+ 0= +1 noO+i-s=0a

5. Assessment Foous
ol A () - (=T
b Suppoe yois dd T nvegers i the onpdeile ondes

=7 =+ |+10 Dot the sum change?
Ui cokoured Uk dawdngs and waordk to aeplin the oL
b Mgwrig|=1] + [+ 7 different from |+ 31 + |- 717 Leplain,

d} Bepeai priva in ¢ with a wm of nisgen ol your choce
LS ST

18, Take it Further Add Sketon coboured ks wo show how poudid 2
al {b vk (el b (5 By Cd] e =10 [
g i=+i=1+i=-Nn @i (+01+ =3+ =1}

September 15, 2022
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T Lhue qpeeszion Sana modsl
WL 3 e T 3 did e pRoblees.
Trade prehlEmusiih o dawsmaie

o o el ereiie’s prabdems witk coloured ks

. Copy and complate
all Ay 0 = +B By o (=) = =t o) [+ +1
dl{-5k+0=-3 e (+A+ 0= +1 noO+i-s=0a

5. Assessment Foous
ol A () - (=T
b Suppoe yois dd T nvegers i the onpdeile ondes

=7 =+ |+10 Dot the sum change?
Ui cokoured Uk dawdngs and waordk to aeplin the oL
b Mgwrig|=1] + [+ 7 different from |+ 31 + |- 717 Leplain,

d} Bepeai priva in ¢ with a wm of nisgen ol your choce
LS ST

18, Take it Further Add Sketon coboured ks wo show how poudid 2
al {b vk (el b (5 By Cd] e =10 [
g i=+i=1+i=-Nn @i (+01+ =3+ =1}

September 15, 2022
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